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Has he got a headache?

What's his problem?

Is he ok?

What's the matter with him?

Please give health advice:
I've got a toothache.
I've got a headache.

Write four words with "ache" at the end.

health problem
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A: Are you ok?

B: No, I've gota ............ . :
A: Why ......... you go to the ........... ? '

B: I'm a teacher and I have an English ......... now.
A: What's his ............ ?
B: He's gota ............ . .
A:Hashe............ earache too? b
B: No, he ............ . A
A: OK. let's .......... the doctor.
Which word is correct?
be quiet
be quite
Which word is correct?
worry rong {all right
wory wrong al right
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In which word "ea" is pronounced /e/?
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What health problems may you have?
I've got ............. .

You should ........... :

Write 2 health problems start with sore.
Write 4 health problems end with "ache".
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Circle the odd word. -
1. pain - ache - quiet - sore
2. head - back - stomach - problem

3. sick - all right - well - ok

Match: S oy a4 -)4
1) I'm thirsty! a) Go to bed.

2) I can't sleep! b) Go to the dentist.

3) I've got the flu! c) Read a book.

4) I have sore eyes! d) Don't play video games.

5) I'm tired! e) See a doctor.

6) I've got a toothache! f) Drink some water.
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(Why - do - headache - sure)

A:....(3)..... don't you see a doctor?
B: You are right.

Which one is correct?
a) running nose
b) runing nose

Which one is correct?
a) haelth
b) health

a) talk / teacher / I'll / your/to /.

b) don't / dentist / why /you/a/see/?

Find a solution for each problem.
a) [ have a toothache.
b) I can't work hard.

Ok means ....... .

Doctors visit the p....... S.

A: T have a toothache.

B: Why ....... you do to a dentist?

The doctor works in his ....... )

I have a backache. I have ....... in my back.

too / have / headache /you/a/do/?
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What's the problem?




